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 PART -A

GENERAL KNOWLEDGE (87

In November 2020, Rajasthan CM
inaugurated virtually the first of its
kind ‘Organ Donor Memorial” at

(A) Jodhpur (B) Jaipur

(C) Jaisalmer (D) Kota
WZ@ZO%W%W%M
qE F RS I T W w a@aw%
ErCiE RIS E 2 I

(A) UL (B) SR

(C) Srwer (D) W

Rajendra Kumar Bhandan, "whcs was in

news recently, is the wmmer of Whlc‘h

award ?

(A) Subhash Chandra - Bose Apda
Prabandhan Puraskar, 2021

(B) Padma Awards, 2021

(C) Param Vir Chakra . L

(D) Ashoka Chakra, 202} o

Tog HAR WS, i 'é’ ﬁ fa’af ﬁ g,

g e & R E e

(A) W@Hmmm 2021

(B) TgH UHI, 2021 o
(C) wwaR =
(D) =T =36, 2021

The venue of the ‘E%;éréiéé""Desert
Knight 21’ (Air Drill between India &
France) held in January, 2021was.

(A) Andaman and Nlcobar Islands
(B) Goa ,

(C) Jodhpur

(D) Mumbai G

TS W ATEE 21° (mra a:?m Wi
% U TR 89 AWW) F arnzhm
ST, 2021%%6@@1‘4@@3:’;&:3 ?
(A) TR aﬁtﬁﬁwm

(B) T |

(C) SR

(D) g=d

4.

Which institution released the second
edition of ‘India Innovation Index’ 7

(A) NITI Aayog  (B) CSIR
(C) RBL (D) ISRO

fra e 7 R FhAvA $ew W
feefra e ol e 2

(A) NITI 3@ (B) CSIR

(C) RBI.

(D) ISRO

Which country chaired the recent
session of Executive Board of WHO,
held in January 2021 ?

{A) India (B) China

(C) Russia (D) USA

wAEd, 2021 ¥ §9=T WHO 1 e
e I ey R qw A 7

(A) Y& (B)

(C) &% (D) i

Which organization celebrated its 63
Foundation Day on 1% January, 2021 ?

1 Sartt, 2021 w1 forw g 3 3191 6381
LS IR IRTCEREIDIN
(A) ISRO
(C) SBI

(B) DRDO
(D) BSNL

What is the expansion of ‘IUC’, which
was recently seen in the news ?

- TUC’ %199l §9 1 R, W ETe € 5=l

der?

(A) intemaﬁenai Usage Chargesﬁ
(B) Intermediate Usage Charges
(C) Interconnect Usage Charges
(D) Interconnect Utility Charges

101A

10.

‘MITRA’  scheme, which  was
announced in the recent Union Budget
is related to which sector 7

(A)y Agriculture  (B) Textile

{C) MSME (D) Banking
T FEY s ¥ 2R MITRA’
Tror fre S A EERE R 7

(A) B (B) W

(C) MSME (D) &

Who is the present Comptroller and
Auditor General of India (CAG)?

{A) Sunil Arora

(B) Shaktikanta Das

(C) Girish C. Murmu

(D) None of ﬁm;ﬁ:e .

UG % Fau R v geee Wi
HAE?

(4) gl 3rtig

(B) wiFHT g

() Prdmrslt, g

(D) T & g 7

“Rafale fighter jet”, which took part in
the 26™ January, 2021 Republic Day
fly-past is purchased by India from
(A) France (B) USA

€y UK (D) Israel

‘el BT W Prem 26 wad, 2021

& oy REw (wm-ane) # fEen
s ey dwmawler g ?

(A) %™ (B) >
(©) 4%, (D) TR

51% edition of Internationa! Film

- Festival of India was organized from

16-24™ January, 2021 at
(A} Jaipur B) Goa
(9] Mumbaz (D) New Delhi.

WA % TR frew wdews w1 519t

T 16-24 Sl 2021 =) wgf w

JTRITRYE 31
(A) g (B) e
(C) Trg (D) 4 feweht

1.

Vaccine against COVID-19 infection
{(Covaxin and Covishield) have to be
stored at

(A) 17~22°C

By §-13°C

(C) 2~8°C

(D) None of these

HIPE-19 o § wEw F O
(Covaxin 84T Covishield) %) 38 0™
O TG AT Y ¢

(A) 17-22°C

(B) 8-13°C

) 2-8°C _

(D) v G wE

‘NEPA’ Industry is famous for
(A) Plastic Industry

(B) Sugar Industry

(C) Electronics Industry

(D) News Print Industry
‘NEPA’ 3uF 30 fore weama &
(A) i 3am

B) FHzam

(C) sorrRIET 3O
(D) 7Tl e FERT

In which rock the percentage of silica
is 55 t0 65% 7

(A ) Basic Igneous Rock
(B) Intermediate Rock
{C) Acidic Rock

(D) Ultrabasic Rock

rg g1 | faferer &1 wfewa 55 9 65%
e ?

(A) 7@ 09 e

(B) weafyfoms fie

(©) wiffafes 9o

(D) reaeafufes d




is.

1

18.

19.

Which of the following is not included
in the Himalayan river system 7

(A) Indus (B) Ganga

(8 Brahmat@uira (D) Godavari
Tt & @ R 76 womeh = R
T 27

(A) foy (B) T

(C) sEgR (D) Ml

Where is the “Gandhi Sagar Wildlife
Sanctuary” located 7

(A) Bihar

(B) Rajasthan

(C) Madhya Pradesh

(D) Gujarat

“mieh PR FReiE I w8 W

Rag?

(A) foEr (B) TSN

(C) A= ™ (D) TSR

Which of the following is Kharif crop
of India ? ‘

(A) Wheat (B) Bajra

(C) Chickpea (D) Barley

T Q i IR ) @lE G § 2

4 M (B) W5

(C) = (D) st

Where is the National Environmental

Engineering Research Institute located ?

(A) Nagpur
(C) Dehradun

(B) Delhi
(D) Hyderabad

. R REE?
(A) TR (B) fewelt
(C) g (D) BeUeTE
Which is the longest National Highway
of India among the following
highways ?
TH U P G YRS ] 969 T e
TR 8 2
(A) NH4 (B) NH28
(C) NH2 (D) NH44

20.

220

23.

What does 1 cm on a map drawn at a
scale of 1 : 50,000 represent on the
ground 7

(A) 5 kilometre

(B) 5 metre

(C) 0.5 kilometre

(D) 50 centimetre

1:50,000 % Y91 W U 39 o @ien T
1 em Y W =0 gl ST ¢

(A) 5.1, (B) 5H.

(C) 0.5 f. (D) 50 8.4

When is the World Environment Day
observed ?

(A) 21% June
(C) 22" March

(B) 5 June
(D) 16" September

 fores warfe fosw e T ST 8 2
@z B) ST
(C) 229 (D) 16 fram

Which of the following is ‘driest place
in India ?

(A) Jaipur B) Jalsaimer

(C) Kota (D) Barmer

1 3 & 9T o1 e P R R 1R 7
(A) SR (B) SEeR

©) =&

(D) WTEH

Which one of the following states does
not form part of the Narmada basin ?

(A) Madhya Pradesh
(B) Rajasthan

(C) Maharashtra
(D) Gujarat k

| ﬁmﬁéﬁqmmﬁa%&#mm |
TE g7
@WmERE (@) TN
(C) "By (D) T9a
101A

24.

The correct descending order of the
following districts in terms of area is
(i) Jaisalmer

(i) Nagaur

(iil) Tonk

fhe % orEn Ry gu Rl = v
IS FI R |

() Smer

25.

(i) AR

(iii) % |

(A) (i), (D, ) @) G, G, ()
©) ®, G, G (D) (i), (), (i)
In 1800 A.D. which scholar used the
name Rajputana for the first time for

the present Rajasthan region 7
(A) Colonel Tod

(B) George Thomas

(C) Max Muller

(D) V. Smith
1800 St 3 R frgrr 3 ot W S
T 83 % AT TSIEHT T S 39
a2

(A) T e (B) WISt ufng
(C) T geR (D) .

260

27.

101A

Whlch of the following is highest
mountain peak of Aravali Range ?

(A) Gurushikhar (B) Ser

(C) Dilwara (D) Kumbhalgarh
T @ B9 T enEeEh jwen ) ged
Sl gEa AR 0 .

(A) TRRET (B) ;W

(C) Teemsrer (D) FwErTe
Amrita Devi Bishnoi award is gzven for
(A) Sports

(B) Wildlife protection

(C) Music

(D) Politics

e ot ForeAd qrewn feg 8 4 famn
ST 8 2 '

(A) SR (B) SISt @
(©) @i (D) TR

28,

29.

30.

31.

In which district of the Rajasthan the
alluvial seil is found 7
(A) Nagaur (B) Bharatpur

{C) Barmer (D) Jaisalmer
o % e e seie ger ol
e 8 7

(A) AR (B) AR

(C) sTEit (D) Jae

Old Rich Deposits of copper lie in
Rajasthan at

(A) Bikaner Area
(B) Udaipur Area

(C) Khetri

(D) Deedwana Area

TRy & gy @ dfe & R T
WSRE 7

(A) SpER & . (B) IS AM
(€) Tag (D) Seam &

Which districts of the Rajasthan have the
maximum ‘Reserved Forest Area’ 7
(A) Udaipur and Chittorgarh

(B) Jaisalmer and Bikaner

(C) Dungarpur and Kota

' (D) Jodhpur and Ganganagar

e & T Rrett & we@ sy ‘ol
o G 8 7

(A) Jeat 3R fereileme

(B) SeeraR 3R iR

(C) gR AR

(D) SR AR

Which of the following pair is not
correct 7

(A) Jawai Dam — Pali

(B) Ranapratap Sagar Dam — Chittorgarh
(C) Ummed Sagar Dam — Bhilwars
(D) Bajaj Sagar Dam ~ Dungerpur
FHABR WA A 82

(A) FaTE STy B il

(B) TUAM grR sty —  Rrlew

(C) SWewrrely - iwEE

(D) S99 OPRE™ - ¥NK



32.

33.

34,

Which of the following is not the
variety of sheep of Rajasthan ?

(A) Chokla (B) Pugal

(C) Magra (D) Barbari

T @ e ) TRyE 6 S i e
g e

(A) =B (B) g™

(C) T (D) =&l

Match the following and choose the
correct answer from the codes given :

1. Bird a. Tal Chhappar
Sanctuary

2. Tiger Project b. Keoladeo Ghana

3. Black Buck ¢. Ranthambore
Sanctuary

Sirgt s R o Y e # ¥ Wl I
= - |
1. usft TR
2. wTe GRS
3, e e
ST
Codes /e ¢
1 2
(Aya b
B)b a
a
C

a. e ST
b. %a?n%aam
c. TR

©) ¢
D) b

wmogr 0 0 W

In which of the following district of
Rajasthan maximum wheat is grown ?

(A) Karauli (B) Sri Ganganagar
(C) Dausa (D) Jaipur

e @ o % fee R o wel
SETET T ST SR 2

(A) et (B) AR

(©) T (D) =g

36.

37.

38.

All of the following are Rabi Oilseeds
of Rajasthan, except :

(A) Rapeseed-Mustard

(B) Taramira

(C) Linseed

(D) Groundnut

e wdt g ) ) e €, fem:
(A) aifer —gwt  (B) T

(C) el (D) et
Which  neighbouring  State  of
Rajasthan has a share in the Chambal
Project 7

(A) Punjab

(B) Gujarat

(C) Madhya Pradesh

(D) Uttar Pradesh

ToRUH % py ugidt U5 w1 SR

e o e 8 7
(A) T (B) TSR
(C) AW (D) FALTRN

In which of the following places leather
based Small Scale Industries are
situated 7 '

(A) Bikaner and Jaisalmer

(B) Kota and Ganganagar

(CYy Jaipur and Jodhpur

(D) Pali and Alwar

Fre o @ fop el e gweT st oy

ECIURE A

(A) FeRR 3R SoerEt
(B) 1T IR FTHFR
(C) gt 3 ST
(D) urelt 3 Tt

What is the main centre of the art for
making clay (Terracotta) idols in the

Rajasthan 7

(A) Molela (B) Akola

(C) Shahpura (D) Tankla
Troredr 1 el (s S gfd s
THAFATFEIAAR?

(A) HeeT (B) STHiel

(C) wmEgh (D) ershett

101A

39,

40,

41.

42.

101A

Which organisation provides industrial
infrastructure facilities in Rajasthan at
present ?

A 8 TS o Wi o e san %
Tore ey gfaend gRan Ut 2 2

(A) RIICO (B) DIC

(C) RFC (D) RAJSICO

Where is the second largest Solar Park
of the State going to be set up ?

(A) Rawatbhata, Kota

(B) Pokaran, Jaisalmer

(C) Nokh, Jaisalmer

(D) None of these ‘ .
TY ] GEU HoY §8T ¥R St 47k Hal
RIRSHECRETHCIR G L

(A) TSR, el

(B) qRE], JEER

(C) IrE, Juer

(D) 3 & w7l

First Direct Benefit Transfer Yojana in
Rajasthan is

(A) Bhamashah Yojana

(B) Kishori Shakti Yojana

(C) Ladli Yojana

(D) None of these

TS < g TeI8T @Y el Jre]

AR ?

(A) TSNS TS
(B) Tt vy D
(C) wreett IS

(D) & ¥ =iE 7l

According to 2011 census, which one
of the following districts has highest
population ?

(A) Jaisalmer (B) Jodhpur

(C) Udaipur (D) Jaipur

2011 31 SFRTOHT & IER Freafefea #
@ form et Y STweie ged iR § 9

(A) SEETEX (B) U
(C) JeagL (D) S

43.

44.

48,

Which of the following Hill Fort of
Rajasthan  is gof included in
UNESCO’s World Heritage sites 7
(A) Ranthambore Fort

(B) Chittorgarh Fort
(C) Taragarh Fort

(D) Kumbhalgarh Fort

e 8 8 goreu & Fore wwrd fee =)
il % frve e wuw o wfe T
TraT T 8 7

(A) oI fpen

(B) Rreitere feen

(C) arrTg fwen

(D) g fwer

‘Kanhadade Prabandha’ was written by
(A) Kallol

(B) Padmanabha

(C) Shalibhadra Suri

(D) Chandbardayi

HIESe yaY frad g a2 7

(A) weEE (B) UgHA™

(©) sz gl (D) SeERert
Which of the following pair of fair with
its celebration month is incorrect ?

(A) Khatu Shyamji Mela ~ Phalguna
(B) Pushkar Mela — Kartik

(C) Baba Ramdevji ka Mela -~

Shravana

(D) None of these
Frefafea @ @ =9 @ 09 R e T
SHERH ST AN TR

(A) GRS AHAT — BIETH

(B) g Aet — shifden

(C) wTaT UHeEs T Tl — HrEo]

(D) T8 T



46.

47.

48.

49.

(C) Kalbelia

Which of the following folk dance of
the state is popularly called as ‘Snake
Charmer Dance’ 7 ,
(A) Bhavai (B) Ghoomar
(D) Kathputli
frey 7 % UST w1 W AT IiE

f e e =it s & S W% ?
(A) v ®) T
© | () W@%

Following all styles comes under
Dhundar school of painting, except
(A) Amberstyle (B) Jaipur style
(C) Uniarastyle (D) Bundi style
et et 2, |

(A) PRI (B) FgE fieht
© stemudet (D) §RAA

is main instrument used while
reciting Phad of Pabuji. .
(A) Ravanhathha (B) Sarangi
(C) Bhapang (D) Rawaj
TSl <hl S G T 5 o T kel
1 ITA BT &

(A) TSUTEET
(C)y wum

ENGEHGEL

(B) Trah
(D) T&

This place of Rajasthan was formerly
known as Viratniagar, where Pandavas
passed their incognito excile of a year.
Give the present name of this place.

(A) Kolayat (B) Bairat
(C) Magada (D) None of these
TTEH 1 T8 H N U8s ferr @

ST AT O R QU gTeE) 3 SIS
e Iy feam o, W%ﬁ@m%mm
FRIR ?
(A) SERd
(C) Arta

(B) I3
(D) T FE

50.

528

53.

54.

Which of the following city of Rajasthan
is known as ‘City of Stepwell” 7

(A) Jalore (B) Dausa

{(C) Bundi (D) Jaisalmer 5
T % T 8 Bre T ) g
FIVE FEAG?

(A) SR (8) gt

©) 4@ (D) STt

Where is summer festival observed in
Rajasthan 7

(A) Jaipur (B) Pushkar

(C) Jodhpur D) ) Mount Abu
oy YT S T HAIT T § 7

(A) TR (B) TH

(€) SER (D) HISE AT,

In Rajasthan is known for its
Tillpatti. : o
(A) Jodhpur (B) Bikaner

(C) Beawar (D) Alwar

TR H m%mﬁ%‘mm
STRTR

(A) SR

(C) ST

(B) &ML
(D) IR

Which Lok Devta is worshipped as
‘Oonton ke Devta’ (God of Camels) 7
(A) Pabuji (B) Harbhooji
(C) Devnarayanji (D) None ofthese
HH T 7Y Saan Y Pl F T H E

# qaT T # 2

() et R
(O TmWEIST (D) FHABET
- Pandit Jasraj is related to

singing.

(A) Maud (B) Mewati

(C) Khayal (D) None ‘o‘f ths:jse

pIEGE RN TR  FETT E |

(&) i (B) Hedl

(€) T (D) FH AR

1014

85,

56.

57.

58.

1614

Jawahar Kala Kendra is situated at
in Rajasthan,

{A} Bikaner (B} Jodhpur

{C) Udaipur (D3) Jaipur

mmw%ﬁ s g e

(A) SR (B) g
(€) Iyt (D) SR

Which dialect is mostly spoken in
Udaipur, Bhilwara and Chittorgarh ?
(A) Mewari (B) Bagadi

(C) Malvi (D) Rangadi
IR, WieErg sk Rdigeg A e )
et SoTeTeR weft s § 2

(A) o (B) =T

(C) wrerstt (D) T
‘Damna’ is an ornament worn in

{A) Neck (B) Finger

(C) Ear (D) Nose

(A) TH (B) Jreht

(€) wm# (D) 7

Which of the following are correct pair
of Inscriptions / Prashasti and its year ?

1. Achieshwar Stone — 1285
Inscription

2. Dilwara Inscription - 1216

3. Kumbhalgarh — 1460
Prashasti

(A) 1,2and 3
(C) only2and3

(B) only land3
D) onlyland 2

i Rere/wiR st s
WRHAEE?

1. IRy R ~ 1285

2. Reame eew ~ 1216

3. G IUR ~ 1460

(4) 1,23 (B) %99 1@ 3
(C) ¥aA2TW3 (D) Faa 1 W& 2

60.

61.

62.

Battle of Haldighati

Battle of Khanwa
3. Second Battle of Tarain
Correct chronological order of these
battles is

e et = o § e s wd

Consider the following battles :
1
Z

% j;sw *@%%‘@ EOR

Vijay Stambh at Chittorgarh was built
by

(A) Rana Sanga

(B) Rana Kumbha

(C) Maharana Pratap

(D) Prithviraj Chauhan

RiteTe w1 o w9 g0 s9a
™

(A) ToTErT (B) Tom I
(C) FERIINAN (D) TS Sew

Bharatpur town was founded by

{A) Rao Pratap Singh

(B) Rao Bikaji

{C) Maharaja Surajmal

(D) Raja Janmaijaya

FCAYL TR T v #h of)

(4) Ty g (B) & Sl
(C) wErST Yo (D) TS S

In Rajasthan British signed their treaty
with ruler Harvakshpal Singh at

(A) Sirchi (B) Bundi

(C) Bikaner (D) Karauli
e ¥ faifeet X wioes seea R
% @ wgl Wk f ?

(A) R (B) q&

(C) Fe (D) =l



63.

64.

65.

From where did the Revolt of 1857

began in Rajasthan 7

{A) Deoli (B) Nasirabad
(C) Jaipur (D) Udaipur
orer 1857 51 ST e W YE EI1 7
(A) TR (B) “HRETR

(C) sEgL (D) &g

Secret military organization Veer

Bharat Sabha was formed by

(A) Gopal Singh Kharwa and Kesari
Singh Barhath

(B) Amar Singh and Sardar Singh

(C) Ram Singh and Khushal Singh

(D) Lala Hardayal and Mahavat Khan
T & TS ST W ST Sh ST 36

(A) Tharer e T 3f el g T1Es
(B) sTfyE ofit een fie

(C) TmfdiE TR g fig

(D) el eI 3R AEEd @H

Trench Commission is associated with
(A) Begun Farmer’s Movement

(B) Alwar Farmer’s Movement

(C) Bijolia Farmer’s Movement

(D) Sikar Farmer’s Movement

(A) S T STeTer

(B) Irerer RRET HTEeH

(C) Tmiiferar e sreem

(D) e fram e

66.

10

68.

To organize Bhil and Garasia in
Rajasthan, Samp  Sabha  was
established by

(A) Govind Giri

(B) Joravar Singh

(C) Motilal Tejawat

(D) Bhogilal Pandya Nl
Trorer 3 vt Al TR ST o) wiSa
(A) mide Filk

(B) Sher g

(C) ArdteTe asrEa

(D) Wriare et

Rajasthan Diwas is celebrated on
(A) May, 15 (B) April, 18
(C) November,1 (D) March, 30

ey feae maE ST @
A) 159 (B 183@3
(C) 1 7EwR (D) 309

Consider the following Prajamandals
of Rajasthan : '

1.  Kishangarh

2. Banswara

3. Jaipur |
According to their establishment
correct chronological order is

T % el yemisal ) FEr
e ;

1. femmme

2. ®garE

3. SEag

! T  STTE T HIEThA §
(A)3,1,2 B) 1,3,2

©) 2,1,3 D) 1,2,3

101A

69,

70.

71.

72,

101A

Integration  of  Rajasthan  was
completed in how many stages ?

(A) Eight (B) Five

€) Six (D) Seven

TSR 5T Thertu foher =t 3 g gam 2
(A) o118 (B) U™

(C) ©8 (D) @

‘Koo’ is related with

(A) House of Bhil Tribe

(B) Garasia Tribe’s Weapon
(C) Bhil Tribal Clothing
(D) Festival of Meena Tribe
(A) Hersaenfas ara

(B) Riférn Sl % eRrm 2
(C) ¥ia Sl & HUei &

(D) o safa & =iErd

Rajasthan was the state in
introduction of the three-tier system of
Panchayati Raj in the country. .

(A) First B) Second
(C) Third (D) Fourth ;
X1 # -t e G omeht By wiy
S T T U9 97 |

(A) o (B) fefa

©) T (D) e

CM’s Seven Point Programme is
associated with

(A) Rural Development :

(B) Conservation of Wildlife

(C) Urban Development

(D) Empowerment of Women :
el 1 ard g wRien detn §
(A) mrfo e @

(B) TSig e A

©) vl wma

(D) 8 axfeRe

73.  Which city of Rajasthan is famous in

74.

75.

the world for Gems market 7
(A) Jaipur (B) Ajmer
(C) Alwar (D) Udaipur

TSR 1 I T W1 fores & v wm
* R afg 22

(A) gt (B) 39T
(€) FHF=R (D) sy
Match them :

Aﬂimgi Breed

‘Breeding Centre

. Dug  a Rathi

2. Qhag;ééﬁ“ b. Tharparkar
3. Nohar  c¢. Malvi

e |

L& a. W

2. 9@ b URIRH
i c owwe
Codes /%

12 3

(A) cb a

B)a b c

(C)}i‘g a ¢

Dya ¢ b

Where »“%zas the headquarters of

Shekhawati Brigade located ?

(A) Khetri (B) Sikar
(C) Jhunjhunu (D) Fatehpur
ST firte w1 werer et o o
@ . (B) ¥

(D) HAER

© ¥\



76.

77,

78.

PART ~B

EVERYDAY SCIENCE (2f fagm)

The most abundant element in the
universe is

(A) Oxygen

(B) Hydrogen

(C) Carbon dioxide
(D) Silicon

RIS ¥ T TR A 8
(A) Iiedien

(B) gEgIH
(C) e SRS
(D) faferpia

Properties of element are determined
by

(A) Atomic number

(B) Atomic weight

(C) Neutrons

(D) Protons

e o 7T fenereh g i R e € ¢

(A) TTTY] T
(B) 9 ¥R

(C) =IgH
(D) NEH

The element present in the largest

amount in atmosphere is

(A) Nitrogen (B) Silicon

(C) Hydrogen (D) Aluminium
FTTeuT 8§ T 1R W § g O 8
(A) TS (B) Fafersin

(C) wTgISH (D) wgHfEm

79.

80.

81.

Which of the following is a pure
substance made up of two or more
types of atoms or elements 7

(A) Mixture

(B) Compound

(C) Element

(D) All ofthese-

frforfiae 3 & 9 W o g T &
B a7 31fRreR TR S TRATYST A1 Al @ W
Baig ?
(A) sy
©) =

(B) =frn
(D) TEwfi

Which of the following is a pure
substance made up of one type of
atoms 7

(A) Compound

(B) Element

(C) Mixture

(D) None of these

ﬁﬂ@f?@ﬁﬁ@faﬁqum%

THTT S S g Ut g 7
() 9w
(B) @

(C) Tz

(D) s A T

Which of the following is the
smallest part of a compound, whose
properties are the same as those of the
compound ?

(A) Molecule (B) Element

(C) Mixture (D) Atom
i § 9« o1 9 1 w9
e ar & Res A S g e E 7
(A) 319 (B) @

(C) sy (D) Tw

101A

83.

84.

101A

H20 and Fe§ represent

{A) compounds (B} mixtures
{(C) elements (D) None

H,0 31 Fes framt afiies w@ & 2
(A) R
(B) s

(C) o |
(D) 79 ¥ wig el

Which one of the following is a mixture 7
(A) Iron sulphide (B) Sea water

(C) Oxygen (D) Water

e d e e fyug ?

(A) A TEHES
(B) ¥z 1 I
(C) i

(D) TRt

Which one of the following may be
classified as a compound and as a
molecule 7

(A) Oxygen (B) Water
(C) Crude oil (D) Sodium

frfafes 8 @ @i w1 o s S wa
3R W 319 & w9 # o Ffiea Rear o
HHATE 7

(A) Teete

(B) u™

(C) = A

(D) Hifeam

gﬁ%

86.

&7.

Which one of the following elements is
a non-metal 7

(B) Gold

(C) Zine (D) Carbon
A e sm oreE Aug R ?

(A) wiE

(B) =T

() R

(D) &EA

{(A) Iron

Souring of milk at room temperature

involves

(A) Physical change

(B) Chemical change

(C) Physical and chemical change
both

(D) None of these

3 AT T gY & G BN A A @

(A) e aiers

(B) TEmf uleda

(C) witfees IR varafes yigds g=

(D) T ¥ =g el

In which type of change a new
substance is formed 7

(A) In physical change

(B) Inchemical change

(C) Inboth physical and chemical change
(D) None of these

Rre wei & yRad 3 v T v e 7

(A) e ufads 4

(B) T qitew |

(C) it 3R e aieds gl o
(D) T =I5 7




88.

89.

90.

Which is a method to prevent rust ?
(A) Crystallization

(B) Sedimentation

(C; Galvanisation

(D) None of these

w1 o s Jsham R o Ry R 7

(A) Tereeeftetor
(B) Ira@red

(C) Neafest
(D) T =i 7

Which among the following is a
physical change ?

(A) Cutting 2 log of wood in small pieces
(B) Burning of wood

(C) Ripening of fruit

(D) Cooking of food

1 3 8 1 1 o o aRedT g 7
(A) THE F T B B g § HEAT
(B) wshEl @

(C) ! T I

(D) SIS Y6

Which of the following is not a
chemical change ?
(A) Rusting of iron

(B) Combustion of magnesium ribbon

(C) Burning of candle
(D) Melting of wax

1 5 & B w1 O vt aftad
®7?

(A) ¥R T S e

(B) R R wr e

(C) el 7 Ster

(D) = &1 freern

93.

i4

91.

92.

The reason for a physical change to be
named as such is that :

(A) Change occurs only in physical
propetties

(B} Transfer of energy takes place

(C) itis a reversible change

(D) All of these

siiferes witads % g ¥ m 3 w1 97

%o § e

(A) whads P MR i d @

(B) Sl %1 geaial g § |

(C) o kvl viEd= § |

(D) wgwsh

Which element becomes . less reactive
due to formation of protectzve Iayer on
its surface ?

(A) Copper (B) Helium

(C) Aluminium (D) Argon

! Fag ) wRal wwa % Pl $ s
1 91w 59 ARt e ¢
(A) B |

(B) diftram

(C) Tgfufrm

(D) it

Which metal does not react with cold
water 7

(A) Potassium (B) Magnesium
(C) Sodium D) Cesium
o1 0 3R T & arfiBre e
(A) TRmm

(B) xfifirm

(C) afzmm

() i

101A

S S

94.

96.

97.

Which metal is the most reactive

among the following ?

e R i o g e sy SRR
27

(A) Mg (B) Al
(C) Fe (D) Cu
Which of these metals is most

commonly used in storage batteries 7
(A) Copper (B) Lead

(C) Aluminum (D) Sodium

fm 3 @ e urg @1 wEE Wl

I RS T AR} 7
(A) IR (B) ¥
(C) Tfrm D) wfmm

Which non-metal is commonly used
for disinfecting water ?

(A) Chlorine (B) Bromine °
(C) Iodine (D) Sulphur

TR g g et e % f e

TG 1 IR R ST E ¢
(A) wA0H (B) s
(C) ImaEa (D) TFH

Fﬁnt glass is used in making

(A) Window pane (B) Mirror

(C) Head light (D) Prism

ez T E IR s e
ST R |

(A) R =i

®) s

(©) TewmE

(D) rsw

101A

98.

99.

15

Non-metals are

(A) Electropositive
(B) Electro Bond
(C) Electrophile
(D) Electronegative
gl ERE )

(A) ToER-NRaE (g-fae)
(B) T IR

(C) TITIHREE (FRRIRAM)
(D) TorE-Ffee (- ferdh)

Phenolphthalein turns solution into
__colour in basic medium .

mink (B) yellow
(D) brown
.;:. rrforue T WW%W# -
T agmamd |
(A) Temh (B) e
(€) s (D) ¥

. Wﬁich gas is generally liberated when

acid reacts with metal ?

e B urg ¥ Y IR FH w

g s E e gE A g ?
- (A) CO () CO,
(C) NO, (D) H,

. Baking soda is also known as

(A) Sodium hydrogen carbonate
(B) Sodium carbonate

(C) Calcium chloride

(D) Calcium carbonate

Ak gver = gad ot S ST R
(A) ST EEESE HEME
(B) Qifeam wEHeE

(© WW




102. The molecular formula of Plaster of

Paris is

e 3T Ui W ST d
(A) CaSO,

(B) CaS80,,2H,0

(C) 2CaS0,, 4H,0

®) Cas%%}zza

103. Which of the following is a strong acid ?

3 8 B o o e s f
(A) H,PO, (B) HBr
(C) HNO, (D) HNO,

104. Bleaching powder is not used
(A) in the paper industry.
(B) to disinfect drinking water.
(C) as preservative in food items.
(D) for preparation of chloroform.

ST UISet 1 sTer 78 S @
(A) BT ST

(B) Yiet =) Himopfya st % fire
(©) @y =S & ufes e
(D) FNHH T H

105. Acids react with bases to form salt and
water. This reaction is known as
(A) Combination
(B) Neutralisation
(C) Reduction
(D) Decomposition

A, WR & A1 SRR 1 e o

Ul ST 8 158 e w wea §
(A) "I
(B) eI
(C) a=ga
(D) FUEreA
o

16

106, What are detergents made of ?

108.

(A) Sodium salts of fatty acids

(B) Sodium salts of sulphonic acids
(C) Sodium salts of benzoic acid
(D) All of these

FoTols R s g € 7

(A) ¥ ofre % ey wamr

(B) wehifes wftrg & Hifsam waur
(C) stz wRre & Aifeas waw

(D) F=ah

. Which of these chemicals is used to

dissolve the soap to make a transparcnt
soap ?

(A) Ethanoic acid (B) Ethanol
(C) Benzene (D) Propylene

REI AT TR % T aTee B Hen %
Tore g s = e R o 2 2
(A) TiTH e (B) W

(C) s (D) Sareeit

Which one of the following will tum
red litmus blue ? ;

(A) Vinegar A

(B) Baking Soda Solution

(C) Lemon juice

(D) Soft drinks

Frefafea 3 @ @ wre frerg =) Hon

LA ?

(A) Tt

(B) aFT AT B
©) Fgmw@

D) |
1014

110.

109, Tomato is a natural source of which

acid 7

" (A) Aceticacid  (B) Citric acid
(C) Tartaric acid (D) Oxalic acid
Al m%ﬁmm%%‘?@%@@?% ?

(A) s s
(B) unsfes wie
(C) zieh uftie
(D) e E T T T Qﬁ;ﬁg

Long-sight defect could be corrected
byusing - lens.

(A) Concave (B) Convex

© Dwergmg (E) None of these

T g R

' @%WWW%%
(A) FEE
(B) 394
(C) e
(D) S‘ﬁﬁ@é?ﬁ

111, When whhe light is passed through a
prism, it splits into colours.

mmmﬁmﬁ%mm% a

T tidifenRedad
(A) 5 ®) 6
© 7 D) 8

112. Which one is correct according to laws

of reflection of light 7

(A) Angle of incidence is equal fo the
. angle of reflection.

(B) Angle of incidence is less than the
angle or reflection.

(C) Angle of incidence is greater than
the angle of reflection..

(D) None of these

m%mﬁq%ﬁmmﬁmﬁ%

PHAARER ?

(A) 1Y 01, TE H197 % ST R |

(B) AT 0T, T SRV & 9§ |

(C) FATIa 10T, TS 1018 05 7 |

(D) FH d g T

101A
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113, An 2ir bubble in water will act as

(A) Convex Mirror (B) Convex Lens
(C) Concave Mirror (D) Concave Lens
g g TR gEEen  HEIH
& YT |

(A) T gdor
(C) araad gim

(B) o o
(D) TEae o

. Lensusedina mmpi@ microscope is

{A) Concave . (B) Convex

(C) Cylindrical | (D) None

T qETeis 9 39 a1 9 aren
(A) Sraa (B) ST@

© ¥FmR (D) B

The hurman'eye uses light to see objects

118,
asithas  in its structure.
(A) mirror (B) lens
(C) prism (D) slab
e e, ST B m% o for srhrar
1 IUG FE ], HRR cs.%s@m Gt §
31
(A) Tu (B) &9
(© B (D) ®ia
116. Which part of eye controls size of a
pupil 7
(A) Cornea (B) Iris
(C) Retina (D) Eye Lens
it =1 W w T qoeh & ST W)
efbawme ?
(A) B (B) 3T
(C) e (D) e w1

ﬁ .



117. The image formed on retina of human

118.

119.

eye is

(A) Virtual and erect
(B) Real and inverted
(C) Virtual and inverted
(D) Real and erect

A 3G i AT vt il g g
(A) e ST den

(B) aTEdfees 3 Iee

(C) et SR s

(D) arEafas v dien

When a beam of white light falls on a
glass prism, the colour of light which
will deviate least is :

~ (A) Violet (B) Red
(C) Green (D) Blue
TS THe TN 1 S e % fen w fwa
8, a1 TSIST T 1 S Y § oy el
B8, T8
(A) St (B) @@
©) & (D) drer

The least distance of distinct vision for

a normal eye is

(A) infinity B) 25cm

(C) 25¢em D) 25m

T M A1 & g gem e A s
A0’

(A) Id (B) 25 a4

(C) 2.59h (D) 25

18

120.

121.

122.

The unit of power of lens is

(A) metre (B) centimeter
(C) diopter (Dy M-t

A % qla ) gHTE B

(A) ez (B) a=didiet
(C) s (D) Mt

In electric fittings, the wires are earthed
because

{A) in case of a short circuit, current
passes to earth.

(B) it avoids leakage of electricity.

(C) it complete the electric circuit.

(D) it reduces fluctuation.

g Refim & o 9 ywia R

(&) ¢ wfhe % e § forga vag gesht
TS 7T | |

(B) ¥ forrell & ot @ wenan B

(C) % forga wRw B QU AT 8 |

(D) 9% SAR-<GTE %) 7 HTT 8 |

A fuse wire is characterized by

(A) High resistance and high melting
point :

(B) Low resistance and high melting
point.

(C) High resistance and low melting
point.

(D) Low resistance and low melting’

point. ‘
T R TR Y e
(A) F= SRty 3R 3 TR
(B) =¥ ey 3R 3 oA
(C) 3= wlatiy 37K Y oS
(D) ¥ TiY 3R 6 T

101A

123. Electric motors involvethe  effect

of electric current.
(A) magnetic
(B) reversible
(C) chemical
(D) physical

s med F foga =
TS IR B
(A) g
(B) Sewuof
(C) THRE
(D) ifes
124. Which of the given is the SI Unit of
Electric Current 7
(A) ohm (B) ampere
{C) volt (D) farad

w2 e o Sl R R 7

(A) e
B) TR

(C) dree
(D) e
125. In which unit, the potential difference

across a cell is measured 7
(A) coulomb
(C) volt

(B) ampere
(D) joule

ue Qe o foweTat ey werE o Wy S

®7?

(A) FH

(B) TARR

(C) I

(D) =
101A

128.

. Electric potential is 2 :

(A) scalar quantity
(B)
©
)

vector quantity

neither scalar nor vector
sometimes scalar and sometimes
vector

frga-fve g

(A) fesr ufyn

(B) afew ui¥yr

(C) = ar afew aita aaldw
(D) wft arfew vt wfew

. The rate of flow of an electric charge is

known as :
(A) Electric potential

(B) Electric conductance

(C) Electric current
(D) None of these
forga oTRw & e B g E P s wa d

AT AT

(&) foma-fova
(B) forge sTevshan
(C) Terge urr

(D) 58 4 % TE

The instrument used for measuring
electric current is :

(A) Ammeter

(B) Galvanometer

(C) Volimeter

(D) Potentiometer

TEAT IUHT &
(A) TR (B) fearfier
(C) areeHiex (D) aRm
o



129, The other name of potential difference

is

(A) Amperage

(B) Wattage

(C) Voliage

(D) Potential energy
[EREINEARGREIL
(A) Y

(B) &1ew

(C) A

(D) f&afos =it

130.
(A) medulla oblongata
(B) cerebellum
(C) cerebrum
(D) None of these ;
T TGS HT Ferd 7T I &
(A) Trgem tha

- (B) g
(C) vuf&rss
D) saﬁ@fﬁéﬁf

131. The part of brain mvolved with

memory in the human is
) ear ®) cerebrum
- (C) liver (D) kidney
w&@%mmwm%
(A) =
(B) wHfETsH
(©) =pa
(D) 9=

The largest part of the human brainis

20

132. The hormone which stimulates milk

133.

production in mammal is known as —
(A) Glucagon

(B) Prolactin

(C) Progesterone

(D) Oestrogen

e gy eer B T e
BTl Y g A1 & T ST d 7

(A) e

(B) e

(C) TRl

D) WE@W

Which hormone isr ’s‘écre:ted‘?{f the sugar
level in blood rises ? |

(A) Peptide

B) Thyroid

© Tesﬁostereng' :

(D) Insulin .
a9 51 e g e € P
LCERE R R

(A) T

(B) ursE

(C) TR

(D) g

101A

134.

135.

Which of the following is not an

infectious disease ?
{A) Dengue

(B) Scurvy

(C) Typhoid

{D} Whoag:smg cough

&) 1 (B) @t
() ePEE (D) FH-ThA
Elephantiasis is caused by

(A) Filarial worms
(B) Flatworms
(C) Tapeworms

(D) None of these

136.

wiweafenla = FERUEAR |
(A) T (FEARETE) i

(B) =

© FareH

(D) 8 & *1E T

The BCG vaccine is given for the

immunity against
(A) Hepatitis
(C) Tuberculosis

(B) Jaundice
(D) Malaria

.5 S fead whwen & e e
ARIE ?
(A) ¥emfem (B) Hiferr
(C) & (D) wafEn
101A
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. Pisciculture is rearing and production

of

{A) birds

(B) fish

(C) wool yielding animals

{S} insects

fereftenert foparent urem SR SETEA & 7
(A) uftgati =

(B) mfast w

(C) T 2 78 S T

(D) $E %

. Silk is obtained from

(B) silkworm
(D) honeybee

(A) butterfly
{C) caterpillar

Bm Sy e
(A) Teraeht B) Fm-$
(C) Toett (D) Ayl

. In which process the earthworms are

used to convert the organic waste into
manure 7

(A) Vermicomposting

(B) Aerobic composting

{C) Anaerobic composting

{D) None of these

v arafire = wre s ¥ Ry et

1 3R g v B e s d 7

(A) FffsenfEn




140. Coir is obtained from

142,

(A) Teak (B) Sandal
(C) Coconut fibre (D) Pine tree
wE_ avw Rrw e

(A) @A

(B) e

(C) et Bgat
(D) FER =TT

.. The energy possessed by huge waves

needed to generate electricity is
(A) Kinetic energy

(B) Solar energy

(C) Potential energy

(D) Heat energy

fororeft Fa1 w0 % Forg o ot & T
et 7 ‘

(A) oSt St

(B) "It

(C) few st

(D) Fo1 St

The device which converts solar
energy into electricity is

(A) Electric motor

(B) Electric generator

(C) Solar cell

(D) Solar cooker
% IYHT ST ER FHorl =) g § ol

H 8

(A) TR B

(B) Faifaees ster
(C) drRa=

(D) ERFE

22

143.

144.

145.

Biomass does not include
(A) wood

(B) agriculture waste
(C) metals

(D) TR

The F2 phenotype ratio of a
monohybrid cross studied by Mendel is |

e g reay R Y w AErEfie

e % F2 FA1eTEd &1 A 8

(A) 1:1 |

(B) 2:1

(©) 3:1
i

(D) 4:

What peréentage of the energy of
sunlight falling on leaves is converted

into food enérgy by plants 7

(A) Ten (B} One

(C) Twenty Five (D} Fifty

Rl T T 3 g 6wt
R e wredt g @ et §
uftafda o s &

(A)ys® B) @

(C) w=e (D) =™

101A

146.

147.

The term biomass most often refers to
(A) Inorganic matter

(B) Organic matter

(C) Chemicals

(D} Ammonium compounds

(A) 3R Tl 9
(B) wrafes ugref
©) W@ =

(D) i ANt =1

-Ecosystem is the smallest unit of

(A) Ionospheré
(B) Lithosphere
© 'Bicsphere

(D) Mesosphere

148,

The set of ecosystems is called 2
(A)
(B)

(C) Subsystem

Biome

limate

(D) Structure

TR~ % eI ) e S B U
(A) “fam

(B) SreETyg

(C) IT-sorredt

(D) wwEAT

. The DNA threads which appear inside

the nucleus at the time of cell division
is

(A) Spindle fibres

(B) Centrioles

{C) Asters

(D) Chromosomes

FRE R $ T BEE ¥ oW
SHH DNA 915 #

gricefEhl-aa $ geg s
| (A) Fis@wRR  (B) TRwHE
o (C) T (D) TRE
(A) IRFHEH
B) W 150, Humans have  pairs of autosomes.
T AT % MEERE

: (A) 18 (B) 22

(D) HeaEd ©) 21 D) 23
23 B

101A



